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A knot diagranﬂ C2 cs Cs Cq 1 ¢t Ci0

Ideals for irreducible component#ﬂ)f Xpar

I = (5.71392 x 10934 4 3.65753 x 10%4u™ + - - + 1.68092 x 105%h — 3.02213 x 102,

—6.85501 x 10%3u40 — 4.73991 x 105443 + ... 4+ 1.68092 x 10%3a + 1.55757 x 1054, u*! 4+ 700 4 ...

* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
It = (5.71x 1053u*? 4+ 3.66 x 104439 4. . . +1.68 X 10°*b—3.02 X 10%%, —6.86 X
1093440 —4.74 x 10%443% 4 . . 4+1.68 X 10%%a+1.56 X 10%4, u*' +7u*0+...—u—1)

(i) Arc colorings

- ()

o= ()
o= ()
4.07812u%0 + 28.1982u3 + - - - 4 2.31009u — 9.26617
ag = \ —3.39928u*0 — 21.7591u3° 4 - - - 4+ 7.35017u + 1.79790
0.678844u% + 6.43917u3” + - - - + 9.66026u — 7.46827
a9 = \ —3.39928u*0 — 21.7591u3? + - - - + 7.35017u + 1.79790
8.89305u%% + 59.3831u3° + - - - — 6.00010u — 11.8860
as = \ 4.09598u%0 + 28.5050u3° + - - - + 3.04934u — 8.50322
1.80830u0 4+ 11.7114u39 4 - - - — 1.62251u — 0.316229
as =\ 2.98878u%0 + 19.1668u> + - - - — 5.42693u — 3.06653
1.80830u%0 + 11.7114u39 + - -+ — 1.62251u — 0.316229
a1 = | —3.20007u%0 — 20.2893u3 + - - - 4 6.28848u + 2.11978
1.67473u*0 4+ 12.2834u3% 4 - - - + 5.93075u — 7.11966
a7 = \ —3.47210u%0 — 22.4391u3 + - - - 4 5.85564u + 2.70675

—4.33853u%0 — 24.2279u3° + - - - 4 19.3082u — 5.37875
a10 = \ —7.53934440 — 48.4715u>® + - - - + 11.8342u + 6.09444

(ii) Obstruction class = —1

(iii) Cusp Shapes = —10.0825u" — 65.2708u> + - - - 4 2.08186u + 7.14206



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3 e+t Tu—1
Co R o U |
Cyq T (TP |
& utt — w0 4 4131 — 17
cg, Cy, C10 e+ e+ 4+ 3u—1
7 utt — w0 4 4 289u + 77
cs ut — 30 + ... — 1290 + 31




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C3 Yt =29y 4 Ty — 1

Co g 3y Ty — 1
Cyq G Ty 3y — 1
Cs Yy — 17y ... — 2627y — 289

C6, €9, C10 y' + 35y + . =3y —1
cq y*t — 25y 4+ ... — 76331y — 5929
c8 Yt — 4550 4 ...+ 24081y — 961




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

u = —0.866167 + 0.5229721
a= 1.35646 — 0.669081
b= —0.725791 — 1.0204601

—4.89451 4 5.373161

0.36580 — 6.730281

u = —0.866167 — 0.5229721
a= 1.35646 + 0.669081
b= —0.725791 + 1.0204601

—4.89451 — 5.373161

0.36580 + 6.730281

uw= 0.631814 + 0.6712991
a= 0.943824 — 0.1302581
b = —0.620989 + 0.4195281

—0.99413 — 1.436651

—0.46376 4 2.785211

uw= 0.631814 — 0.671299]
a= 0.943824 + 0.1302581
b= —0.620989 — 0.4195281

—0.99413 + 1.436651

—0.46376 — 2.785211

uw= 1.134280 + 0.4113881

a = —0.871113 — 0.261658] | —6.90594 — 0.821181 | —3.22724 4+ 0.1
b= 0.321519 — 0.6851501
uw= 1.134280 — 0.4113881
a = —0.871113 + 0.261658] | —6.90594 + 0.821181 | —3.22724 4+ 0.1

0.321519 + 0.6851501

u= 0.465693 + 0.6336581
0.05902 — 2.258201
0.580789 — 0.1733691

—0.29899 — 5.962151

6.24062 + 8.950931

uw=0.465693 — 0.6336581
0.05902 + 2.258201
0.580789 + 0.1733691

—0.29899 + 5.962151

6.24062 — 8.950931

u = —0.326222 4+ 0.7131611
a = —2.26295 — 0.545391
b= 0.755468 + 0.4591591

2.95137 4 3.821321

10.20968 — 8.073461

uw = —0.326222 — 0.7131611
a = —2.26295 + 0.545391
b= 0.755468 — 0.4591591

2.95137 — 3.821321

10.20968 + 8.073461




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.801624 + 1.0338301
= —1.213990 — 0.0281951
1.161390 + 0.7901881

3.54673 + 5.391091

—0.801624 — 1.0338307
= —1.213990 + 0.0281951
1.161390 — 0.7901881

3.54673 — 5.391091

0.344862 + 1.2653801
0.614486 — 0.2528981
—0.953366 + 0.4823151

—1.46534 — 1.300121

0.344862 — 1.2653801
0.614486 + 0.2528981
—0.953366 — 0.4823151

—1.46534 + 1.300121

0.119178 + 0.6526461
= 1.53296 + 2.512891

4.91037 — 1.302581

16.3776 + 4.33471

0.119178 — 0.6526461
1.53296 — 2.512891
—0.639883 + 0.0882841

4.91037 + 1.302581

16.3776 — 4.33471

0.020565 + 0.6560181
0.658242 — 0.7046841
—1.62626 — 0.294301

—2.00733 — 2.040711

3.80481 4 5.502781

0.020565 — 0.6560181
0.658242 + 0.7046841
—1.62626 + 0.294307

—2.00733 + 2.040711

3.80481 — 5.502781

—0.453284 + 0.4295411
0.257607 — 1.2112901
—0.541078 — 1.0413801

—3.37217 + 3.662901

0.41021 — 1.400511

= —0.453284 — 0.4295411
= 0.257607 4 1.2112907
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b= —0.541078 + 1.0413801

—3.37217 — 3.662901

0.41021 4 1.400511




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.439287 + 0.4300841
= —0.369850 + 0.8098721
0.826171 — 0.8786021

1.92386 — 0.705691

4.73633 — 1.493771

—0.439287 — 0.4300841
—0.369850 — 0.8098721
0.826171 + 0.8786021

1.92386 + 0.705691

4.73633 + 1.493771

0.458556 + 0.2458037
= —0.926842 + 0.2543731
3.14697 — 0.027211

—1.01770 + 3.129591

—11.2117 4+ 9.69311

0.458556 — 0.2458031
—0.926842 — 0.2543731
3.14697 + 0.027211

—1.01770 — 3.129591

—11.2117 — 9.69311

—0.98309 + 1.113381

= 1.042320 — 0.0304621 5.88754 + 9.998491 0
—1.28757 — 0.915131

= —0.98309 — 1.113381

= 1.042320 + 0.0304621 5.88754 — 9.998491 0

—1.28757 4 0.915131

—0.164101 + 0.4494641
—0.688933 + 1.1400201
0.744682 + 0.5919891

1.35739 + 0.570431

7.08701 — 0.514361

—0.164101 — 0.4494641
—0.688933 — 1.1400201
0.744682 — 0.5919891

1.35739 — 0.570431

7.08701 4 0.514361

0.95044 + 1.218761

= —0.641001 + 0.0455581 1.17907 — 4.498901 0
= 0.825830 — 0.7182721

= 0.95044 — 1.218761

= —0.641001 — 0.0455581 1.17907 + 4.498901 0

> Q@ €| & €| & €| & €| Q& &> & 8| & 8|l & 8|l & 8| & &g
Il

0.825830 + 0.7182721




b= 0.901140 — 0.0769111

Solutions to I} V—1(vol + /—1CS) Cusp shape
u=—1.11398 + 1.115131
a = —0.963889 + 0.0844551 0.7775 + 14.25811 0
b= 1.33509 + 1.021791
u=—1.11398 — 1.115131
a = —0.963889 — 0.0844551 0.7775 — 14.25811 0
b= 1.33509 — 1.021791
= 0.387269
a= 111745 3.05082 —23.9460
b= —-3.36262
u = —1.25742 4+ 1.125007
a= 0.221918 — 0.4308297 5.25717 — 1.923661 0
b= —0.738517 4 0.0665451
u = —1.25742 — 1.125001
a= 0.221918 4 0.4308291 5.25717 4 1.923661 0
b= —0.738517 — 0.0665451
u = —1.50650 4 0.793071
a = —0.147496 4 0.4516881 1.64294 + 1.587541 0
b= 0.517015 4 0.0040127
u = —1.50650 — 0.793071
a = —0.147496 — 0.4516881 1.64294 — 1.587541 0
b= 0.517015 — 0.0040121
u= 1.20335+ 1.237041
a= 0.605373 +0.0221721 | —3.65031 — 8.137121 0
b = —0.801305 + 0.8469561
u= 1.20335 — 1.237041
a= 0.605373 —0.0221721 | —3.65031 + 8.137121 0
b= —0.801305 — 0.8469567
u = —1.11069 + 1.426211
a = —0.264870 4 0.3875391 1.04931 — 5.538057 0




U
a
b

Solutions to I* v—1(vol + /—1CS) | Cusp shape
= —1.11069 — 1.426211
= —0.264870 — 0.3875391 1.04931 + 5.538051 0

0.901140 + 0.0769111




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1, 63 utt +uf T —1
€2 (A SRR N |
€4 ut + 30+ a1
€5 utt — w4 131u - 17
€6, C9, C10 M+t 4 3u—1
7 utt — w0 4 42890 + 77
C8 utt — 3ut ... —129u 4 31
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ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,C3 ytt =201 . Ty —1

) v 30 4 Ty —1
cq Ty 4 3y —1
€5 y*t — 17y - — 2627y — 289

Ce, C9, C10 yM 35y 3y —1
¢ y*t — 25y + ... — 76331y — 5929
C8 yM — 4510 ...+ 24081y — 961
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